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Knot parameterization for the 
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Knot parameterization for the 
Catmull–Rom algorithm

0 1 2-1
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Barry and Goldman's pyramidal 
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 Interpolating Catmull-Rom spline 

P0=(0,0)

P1=(1,2)

P2=(4,3)

P3=(7,0)

A1= -0.5 * (0,0) + 1.5 * (1,2) = (1.5,3)
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 Interpolating Catmull-Rom spline 

P0=(0,0)

P1=(1,2)

P2=(4,3)

P3=(7,0)

A1

A2

A3= 1.5 * (4,3) - 0.5 * (7,0) = (2.5,4.5)



  

 Interpolating Catmull-Rom spline 

P0=(0,0)

P1=(1,2)

P2=(4,3)

P3=(7,0)

A1

A2

A3

B1= 0.25 * (1.5,3) + 0.75 * (2.5,2.5) = (2.25,2.625)



  

 Interpolating Catmull-Rom spline 

P0=(0,0)

P1=(1,2)

P2=(4,3)

P3=(7,0)

A1

A2

A3

B1

B2= 0.75 * (2.5,2.5) + 0.25 * (2.5,4.5) = (2.5,3)



  

 Interpolating Catmull-Rom spline 

P0=(0,0)

P1=(1,2)

P2=(4,3)

P3=(7,0)

A1

A2

A3

B1

B2

C = 0.5 * (2.25,2.625) + 0.5 * (2.5,3) = (2.375,2.8125)
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